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1) (T/F)  GDP is the value of all goods and services produced in the economy during a given period of time.

For questions 2 and 3, suppose that only apples and pears are produced in an economy. Prices and quantities for 2002 and 2003 are given in the following tables.

	2002

	
	Quantity
	Price (in $)

	Apples
	100
	2

	Pears
	50
	4

	2003

	
	Quantity
	Price (in $)

	Apples
	150
	3

	Pears
	100
	2


2) Using 2002 as the base year, calculate real GDP in 2003.

3) Given your answer to 2), calculate the growth rate of real GDP between 2002 and 2003.

For questions 4 and 5, suppose that Y=100, C=70, G=20, S=20, I=20, Inventory Investment = -10, and X=IM=0.

4) What is the value of T?

5) Calculate public (or government) savings.

For questions 6-10 consider the following economy.

C=10+3/4*YD
T=20

G=15

I=20

X=IM=0

6) What is the short run equilibrium value of Y in the economy? 

7) What is the value of the multiplier on net taxes (T) in this economy?

8) What is the short run equilibrium value of national savings in the economy? 
HINT: National saving is the sum of private and public (or government) saving.

9) Suppose the government wanted to achieve a balanced budget either by reducing net taxes (T) or increasing government spending (G).  Suppose it chooses the instrument that would change short run equilibrium output (Y) by the largest amount. What would the change in short run equilibrum Y be?

10)  Set T and G to their initial values again. Suppose Y were 100 (i.e. not necessarily equal to its short run equilibrium value). How large would inventory investment be? 







